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Third Semester of 3 Year LL.B. Examination, J anuary 2011

LABOUR LAW (Course — II)

“'Duration . 3 Hours Max. Marks : 100

Instructions : 1. Answer all questions.

Q No. 1.(a)

(b)

2. Omne essay type and one sh(nt note question or problem
from each umit have to be attempted, which is referred as
part (a) and (b) in all the units.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT -1

What is ‘Industrial Dispute’ ? Explain the essential requisites
of industrial dispute. Marks: 15
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Explain the factors which were responsible for departure from
the old theory of “‘Master and Servant’
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‘A’ was empIOyed as Mason in a company and drawing
wages of Rs. 2,500 per month. His duties involved supervisory
work of about 100 workmen. He also used to decide who should
do over time work. Is ‘A’ a workman ? Decide giving reason.  Marks : 5
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Staying away from work under common understandin gasa
protest to the introduction of a new system for marking
attendance of the workmen. Does this amount 1o strike ? Give

reason.
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UNIT - 11

Q. No. 2. (a) Discuss briefly the Authorities sct up for the investigation and

Q. No. 3

(b)

(@)

settlement of “industrial disputes’.
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“Conditions of service etc. should not be changed by the
employer during pendency of proceeding before the authoritics
ander the Iﬂduatrtai Disputes Act”. Ex "?1‘111‘1 i.hu extent of this
Provision. o,
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On accourit of smke by some workman in one part of the
cstablishment, management refused to give work to the
workmen in another part of the establishment. The workmen
claim lay-off compensation. Decide giving reason whether they
are entitled for compensation 7
O ERNEOS E\Twr% RSN d@f\mﬁ TRIeES> DERomd 'qa??‘fd
Slalovel o DIV foTa IO @m‘éep DOEORTRY. 3 T Ens
mdra er{awa WOTT deshznd. wSds VTR, 11000 0T rdodren
eﬁaés“ﬁ ? T30 B2 BePrDG.

OR /e

In an mdu%try there was contmuous unrest leading to strikes
and lockouts. The employer closed down the industry. Does
this amount to closure ? Give reasons.
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UNIT -~ 111

Explain the provisions regarding registration of trade unions
under the Trade Unions Act, 1926.
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Discuss the liability of the employer to pay compensation under
the Workmen Compensation Act.
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(b) ‘A workiman residing in a hut provided by the employer. The
hut caught fire on a night and the workman sustained severe
burn injuries consequent upen which his earning capacity was
reduced. Can he claim compensation {rom the employer 7 Give
TEASOMN, Marks : 3
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A bomb was placed in the premises of a workshop by some

g

strangers, exploded and injured a workman. Is the employer
liable to pav compensation 7 Decide
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Q. No. 4.(a) Examine the different kinds of benefits available under

Employees State lnsurance Act, 1948, Marks : 15
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Ihscuss the provisions relating to contributions under Employees
State Insurance Act.
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(. No. 5.(a)
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A demand made by the Regional Provident Fund Commissioner

to the employer to contribute his share in respect of those

employees who have completed one year’s service on the

date. Is it justified ? Decide.
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Write note on payment of maternity benefit to the women under

Maternity Benefit Act. ¢
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UNIT - ¥
Explain the term ‘Minimum Wage'. What is the procedure

laid down under the Minimum Wages Act for fixation of

minimum rate of wages 7
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Discuss the provisions relating to ‘Health” under the Factories
Act, 1948,
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A person employed as a Carpenter in a Soap Manufacturing
Factory for preparing boxes in which soaps are packed and
sent for sale. Is he a worker under the Factories Act ?
Decide.
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Write note on the essential features of Contract Labour
(Regulation and Abolition) Act, 1970,
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